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1 X % H 13,980 26.2 1 1,225,504 30.8 98
2 b £ 57,000 20.2| 3 3,382, 720 14.4 59
8 A 7 v — & o0, 140 17.8] 2 4,017,222 17.1 80
4 1h — 2 — & 30, 996 11.0 4 2,243,918 9.6 12
o Y A & 3 25, 940 9.2 5 1,834,195 1.8 1
6 L3 xF 3w 6, 358 2.3 1 651,508 2.8 102
7 A 4 — F — R 4,185 1.5 9 312,290 1.3 15
8 TJ1=vI R (H) 3,780 1.3 13 182,160 0.8 48
9 B & H 3,910 1.2] 6 158,175 3.2 216
10 7 A 3 — 2,530 0.9 11 194, 541 0.8 11
msnN 3 H 1,830 0.6 10 204, 490 0.9 12
12 | 3 % & 1,650 0.6 8 942, 520 2.3 329
13 7 1 b v 1,360 0.5 16 85, 305 0.4 63
mwiv 5 v (%) 1,180 0.4 15 88, 880 0.4 15
w7 - N3 1,150 0.4 19 o, 885 0.0 o
16 > v (%) 1,050 0.4 17 50, 325 0.2 48
7o~ ¥ # E 890 0.3 14 103,510 0.4 116
18 | il C & ) 642 0.2 12 193, 446 0.8 301
9 7 3 v 4 3 R 270 0.1 18 28, 435 0.1 105
20 | 5 ') 7 100 0.0/ 20 9,900 0.0 95
21 | A 2z — 65 0.0 21 4,620 0.0 1
22 2 —HhY (%) 30 0.0 23 11 0.0 0
23 Ko & Y (%) 10 0.0 22 2,200 0.0 220
T T o f v Y T 6, 862 2.4 1 218,006 2.5 84
2 T o gy E 4,935 1.8/ 3 213,895 0.9 43
3T O Y 1,524 0.5 2 922,225 2.2 343
] Y £ & 281,967 | 100.0 23,431,546 100.0 83
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1 2 v 5 9 100.0| 1 112, 750 100.0 12,528
£ 9 100.0 112, 750 100.0 12,528
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